PART-II
GENERAL APTITUDE TEST

101. Which figure should come in place of question mark (?)

Q|| °
@ |

(b) @
(c) @

(d) None of the above

102. Iff(z) = (8 ~ %) then

1
fz)+f (‘Z') has the value

(a) 16
(b)

(c)
(d 1
103. If the cost of two books and five pens is ¥ 225 and the cost of four pens and three books is
¥ 320, then what is the cost of one pen ?
(@) 7
(b) 6
(c) 4
d 5
104. If X: 11 12 13
Y: 13 12 11
then covariance is
(a -273
(b) O
(8. a3~ 1
(d),,2/3
105. The probability of getting a sum 10 in the throw of two dices is

(a)
(b)
(c)
(d)
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(a)
(b)
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(d)
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106. How many triangles are there in the following figure ?

(a) 8
(b) 9
(c) 12
(d 15

107. Which of the following is most affected, by extreme values of the variable ?
(a) Median
(b) Mode
(c) Arithmetic Mean
(d) None of the above

108. Choose the diagram that illustrates the relationship of Females, Mothers and Post-graduates.

(1) (2) 3 “@

(@) 1
(b) 2
(c) 3
d 4

109. Complete the series :
Sunday, Monday, Wednesday,
Saturday, Wednesday, Monday, _ _
(a) Sunday, Sunday
(b) Sunday, Monday
(¢) Sunday, Wednesday
(d) Sunday, Saturday
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106. Frfafaa fo w e Bt & 2

(a 8
(b) 9
(c) 12
d) 15

107. 71 # | #1991, W % Ivuad o A9 gl § Tt yefad g g 2
(a) e
(b) SETH
(c) WHFRR WY

(d) ST @ HE T

108. 39 3T FI G4 HIT S R, T 3 Sashierl & Gl sl ZRTd & €
1) ) 3) “4)

(a)
(b)
(c)
(d)

HOWN =

109. %@ i Yo7 BT

(d) oaw,; wiFaR
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